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HH: HYRLHHI(FHH)(DIEH/DIE
el Jl=2&l (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
—2¢d 6,849
ANEA 1,300&*1.7 £ *BAl 2+*3CH 100 5,304
=24 1,300 *4.95 £ *8A| 2t+30 1,545
Oxgsi2el 4,150
—AEIE(ER) 3,450,000 «1CH 3,450
—BES (XY L 282EHI0]) 350,000& +2CH 700
OXSXHM (3t E) 30,0002 = 1CH 30
O=S AR 3,000
—ABEE A (X-21201 &) 125,000& «2CH 122 3,000
202 O4Hl 37,700 40,600 A 2,900
01 =Wl 37,700 40,600 22,900
O bl 200,000& *13H <128 31,200
O&2| 0l 50,000 13 10 6,500
203 HRF&HI 10,120 10,160 A40
01 J|22SHFF=&HI 6,600 6,600 0
ogE 6,600,000& 6,600
02 FAANMAMHSFAHI 520 560 A40
OZ I H =] 40,0003 13 520
04 RASSEHFFEHI 3,000 3,000 0
ORN2IHRF4H 250,000& 123 3,000




